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& £z K % NET HDCP TOTAL ouT IN
2 B = A & X BB 70.8 1.2 72 ( 36 36 )
2 i gt = 71.0 24.0 95 ( 48 47 )
3 fiI o F = 71.0 18.0 89 ( 44 45 )
4 {i1 H % = & 71.6 8.4 80 ( 39 41 )
5 fif 7S R | 71.8 7.2 79 ( 42 37 )
6 i M B EF E 71.8 13.2 85 ( 42 43 )
7 I = om oA 72.0 0.0 72 ( 35 37 )
8 i & A E = 72.2 10.8 83 ( 40 43 )
9 {iI VNI EA 72.2 16.8 89 ( 46 43 )
1041 M B 50 2 72.4 21.6 94 ( 50 44 )
15411 M8 & 5 73.2 10.8 84 ( 42 42 )
20111 B 0 B T 73.6 8.4 82 ( 42 40 )
2541 E A Bi 74.0 6.0 80 ( 42 38 )
30f1 i 8 2 74.8 19.2 94 ( 49 45 )
35111 = B 8B F 75.0 24.0 99 ( 49 50 )
4041 B A B X 75.4 15.6 91 ( 44 47 )
45{1 A B F 1T 75.8 7.2 83 ( 40 43 )
504z M H M =z 76.0 12.0 88 ( 42 46 )
6011 B B — 77.0 18.0 95 ( 49 46 )
7041 mE BB 77.4 9.6 87 ( 46 41 )
80fi1 /NI N 78.4 15.6 94 ( 50 44 )
9011 R1E M B & 79.2 28.8 108 ( 55 53 )
100 & K & — 80.0 24.0 104 ( 51 53 )
110z R K R B 80.8 31.2 112 ( 58 54 )
120z HE JIl 5 13 82.2 34.8 117 ( 56 61 )
1300 B/ E B 85.6 32.4 118 ( 60 58 )
14001 & B WF L 90.0 36.0 126 ( 60 66 )
1506 & Bk EZ 112.0 36.0 148 ( 78 70 )
BBE m AKX B 8 137.0 36.0 173 ( 90 83 )
BGE =N 8 X BB 72 ( 36 36 )
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